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QUESTION 1

Based on the diagram,

Time

2005 2006

r--ﬂ-J-w---1 r---r-L-r--q

2005]]12005]|12005]1|2005]|2006]]|2006||2006|| 2006
Q1 Q2 Q3 Q4 |l Q1 Q2 Q3 |[|Q4

if the expression firstSibling([2006 Q 1]) is used in the report, what item will be returned?
A.2005Q1

B. 2006 Q 4

C.2006 Q1

D. Nothing, because the return value equals the parameter

Correct Answer: C

QUESTION 2

The sales manager requires a crosstab report to display the top 3 sales people for the month. Considering that an OLAP
data source is used, what will the report author use when creating this report?

A. A set expression

B. An axis title

C. A percent of base calculation
D. The hierarchize function

Correct Answer: A

QUESTION 3
A report author can use a slicer to dowhat?

A. Make the report database smaller and efficient
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B. Provide context to intersection values
C. Reduce the number of members on the edge of the crosstab.
D. Generate a zero suppression filter in the rows

Correct Answer: B

QUESTION 4

What is the default behavior when drilling down on an edge in a crosstab report?
A. The level drilled on is replaced with the entire level below it.

B. The edge expression is replaced with the children of the item drilled on.

C. All edge expressions of the crosstab are replaced with their children.

D. The edge expression is changed to another item in the query.

Correct Answer: B

QUESTION 5

The following expression is used in a crosstab report: filter([sales_and_marketing]. [Product brand].[Product
brand].[Product brand type],[Revenue]
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